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A B E 4 i3 OUT | IN |GROSS| HDGP | NET
B M =EhH E 36 36| 2.4 33.6—OA4 U RT—F
BB M ZEE 44 44 9.7 A JRAINRDAH=
M HEFF 1E=E 43 43| 8.5 4.5 KASLKEY k
M R¥ J=x 43 43 8.5 3459 =nE
i TER B 42 421 7.3| 34. 18D Fw]
66 AL BSIE 41 M| 6.1 34.9/MpHR—R FE—7
L (AL EIE 52 52/ 17.0] 3.0 Yty k
8 | K#¥& ERBH 39 39| 3.7/ 3.3xY=¥ O
L |EH X No15. 16 39 39 3.7 3B.IEAFVa—X
1062 |[IUE A= 38 38| 2.4] 35.6/FRMIBEESL TA
11461 2\H —R 49 49| 13.4| 35.6
1260 ®HHEH AXF 43 43| 7.3| 35.7
[l T2 43 43| 7.3| 35.7
14460 /MO F— 317 37 1.2| 35.8
151 /BE HF— 48 48| 12.2] 35.8 EM1000M %
166 luff BB 42 42) 6.1 35.9
1760 |8 8 42 42) 6.1| 35.9
1861 EM B 47 47/ 11.0/ 36.0
196 |55H FB 41 41 4.9| 36.1
206 /M IEE 41 A1) 4.9 36.1|FP&E
216 | SF# HIF 35 35| -1.2| 36.2
260 | FHFmE —E 40 40/ 3.7| 36.3
2361 | 2H FHF 40 40/ 3.7| 36.3
2461 AR B No12 46 46/ 9.7| 36.3
2561 | K¥ — 46 46| 9.7] 36.3 EM1000M %
266 | KA H b1 51/ 14.6) 36.4
2161 |fHH B b1 51/ 14.6) 36.4
2861 JREH E% 45 45| 8.5| 36.5
2961 [lLH BF 45 45| 8.5| 36.5
30 hpE 18X 45| 45| 8.5| 36.5|FR— AR
3 | §H EZAX 39 39| 2.4| 36.6
201 |EHH =F 39 39| 2.4| 36.6
ML | KRR T2 44 44| 7.3| 36.7
A |ILUER HEXEF 44 44| 7.3| 36.7
b | B HBEF 44 44| 7.3] 36. 7| &M1000M
6L |FiE E No8 38 38 1.2| 36.8
3L A FH 49 49| 12.2| 36.8
B |BAR FH 43 43] 6.1| 36.9
9L | XH BZ 43 43] 6.1| 36.9
406 EE FEB 48 48| 11.0 37.0/BHKF
M 5w EBEX 42 42) 4.9| 37.1
261 m FE 41 41 3.7 37.3
4361 A 1E 41 41 3.7 37.3
46 L BE b8 58] 20.7| 37.3
4561 AL BEF 52 52| 14.6] 37. 4| KM1000M
66 BRI =2 52 52/ 14.6| 37.4
4161 [BEA F1T 52 52/ 14.6| 37.4
481 HHE & 46 46| 8.5| 37.5
96 EH 25 46 46| 8.5| 37.5
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JIE BHEES g OUT | IN |GROSS HDCP | NET
5062 [ILE  FFIE 46 46] 8.5 L5 RMIJIL—%
b6 |FxIF 3 45| 45 7.3] 37.7
RS 45| 45 7.3] 37.7
b3fL EM B 45| 45 7.3] 37.7
b4G6r [ EIL [RE 45 45] 7.3/ 37.7
550 =45 i: 45 45| 7.3| 37. 7/ EM1000M %
5661 |[ZFT 44 44 6.1 37.9
mﬁﬁmﬂ& 44 A4] 6.1] 37.9
586 [F9E 5 44 44 6.1 37.9
506 BEA EX 49 49/ 11.0/ 38.0
6061 |[5&E A 49 49/ 11.0] 38.0/F=FECHTU >
6162 [Tt HRHFE 43 43] 4.9 381
6261 [HH BAE 43 43] 4.9 381
6311 [EHE MK Nob 48 48] 9.7 38.3
64 | FiI —5 No3 47 47 8.5 38.5
6561 | K& #IL 41 41 2.4 38.6/ RM1000M %
6667 (M 52| 52| 13.4] 38.6
6761 |[#EIL 1EE 46] 46 7.3] 38.7
6861 A FIT 51 51| 12.2] 38.8
696 |FHRER Bk 51 51| 12.2] 38.8
106 % 2 45 45] 6.1 38.9/5EDR—THL—
T R BA¥F 50 50| 11.0/ 39.0
1261 [FL #t 50 50/ 11.0] 39.0
1361 [Pt 43 437 3.7 39.3
146 [INE RF 49] 49| 9.7 39.3
56 (K EEHF 48] 48] 8.5 39.5 RAM1000M %
1661 [EE)Il FIRE 46 46] 6.1 39.9/<Y—T/\ (XEEAE)
T [N\ # 51 51| 11.0/ 40.0
7861 [ILHE X 56 56| 15.8| 40.2
7961 [#WL A 59| 59 18.3] 40.7
806 ER Eth 51 51 9.7 41.3/REHDOL CH
816 [EE HAF 53] 53/ 11.0] 42.0
826 EE FEif 50 50/ 7.3] 42.7
836 |[FiL F— 54 54/ 11.0| 43. 0/ =EEANA (BBEH)
(VEE A 72 721 23.1] 48.9
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